Z:\Clients\Trinity Glass PERMANENT\B - Texas Dept of Ins\DR-XXX 8-0 OP FG - IMP\C - Drawings\TX-5166-68.dwg

TTYV 7T ASQQ

N 2 0B JE/, A0

RNATIONAL

OPAQUE FIBERGLASS

DOUBLE DOOR

w/ SIDELITE(S)
"IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & Ré09 and the 2018 International Building Code
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

2. This system has been tested and evaluated as a large missile impact protective
system for installation in areas that require wind borne debris protection. This
product meets missile level "D" as defined in ASTM E 1996.

3. Allowable design pressure requirements must be equal to or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.

4. Conditions not covered by this drawing are subject to further engineering analysis.

TABLE OF CONTENTS

SHEET # |DESCRIPTION

Typical elevations, design pressures & general notes
Door panel details

Sidelite panel details

Elevations

Horizontal & vertical cross sections
Horizontal cross sections

Vertical cross sections

Frame anchoring

Components

Bill of materials

S|~o|o|~|os || |wfrof—

111

104" MAX. O.A. FRAME WIDTH

looloo|;
E — r—Aa B/ S | —
O o
T E_
=0 %9
£z 22 o 0
L w «»v O
<2 =5 = =l =
= 20 X X
= _z T — OR=—— I—A
2 in
N X

J J

4 Ii =l = =l = i

a1}
Continuous Head and Sill
ERAME DESIGN PRESSURE (PSF) | DESIGN PRESSURE (PSF)
CONFIGURATION MATERTAL INSWING OUTSWING
POSITIVE | NEGATIVE | POSITIVE | NEGATIVE

OXXO FJ PINE +45.0 -45.0 +45.0 -45.0
OXXO COMPOSITE +45.0 -45.0 +45.0 -45.0

L
oy
R
hel
£2 0 o
-5* ) »
nu OM T
D.. Z N L
I -5
cg (/)u'\— S
o = (o]
o Z 9o z
2 <09 e]
>~I— = TWm =
3 J45%@ 7
238 @
Zow I
I om o
) onN= n
o oxz K
) z 2 L
. =509 o)
g dg5
?  Boi K
o )
[ § [
5 k
E 8
3
[$]
o]
o
%)
L
Z =
(1)
~ n=
[ Q-
= =
o 34
L2 v b
3 > <O
O o o
<
S| 3
t il Ly
— 7) &
=Z 7] ]
x <| =%
= o S
S ol &
S
x x a
o o
>_
m
wn
=z
O
n
o
L
<
(o]
o
=z

DATE: 3/25/21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX—-5168

SHEET _1 oF 10




Z:\Clients\Trinity Glass PERMANENT\B - Texas Dept of Ins\DR-XXX 8-0 OP FG - IMP\C - Drawings\TX-5166-68.dwg

ui
031"~ == EXTERIOR — |=—025" ST "
37— 44" St Q1.5 83,
EAAZSEEE T Ex 2 B
2 &) H s 0 , . >
— V NN awogR T
5 P . b s . - e
o X d ;E’S%m ‘0 4E2 =
= T BV iz! 5 233 3
‘ / é \ f ?[)\/{'/' 0 : = g £ E
OO i L e 2on b
\ Mpris i s s 8R. o
E 111\'\‘.\"“\“ m > Ll
STILE CAP HINGE STILE INTERIOR LATCH STILE ST?,;VET‘P s 232 F
(PVC) (LVL) (LVL) 5 §%¢ ¢
P Aok k
o
(8]
1"\ HORIZONTAL CROSS SECTION : X E
[4)
PANEL WIDTH % / (COMP)
. il
= [ S
q = TOP RAIL Z £
REINFORCEMENT 0 S
(7p]
=t (v 2 |y
o |3 =2
v B o *
m Z (93X
2N w N | — = BB
4 FOAM CORE — || . 5 x S
/8
< 7/ § e
5 o E
o
= 2 .
o S EXTERIOR INTERIOR
= v
o
=z
= = N
S % "
< X S FIBERGLASS . 2
- (@)
o & i SKIN \ 7 =
' o
\SEE HARDWARE BOTTOM RAIL &
TABLE REINFORCEMENT
| = (LVL)
o ~
—_— m_\ Lol
i | BOTTOM RALL <
: r (COMP)
| _ HARDWARECHART —— 175" — <
MANUFACTURER | MobE DATE: 3/25/21
. MODEL -y
KNOB: SIGNATURE SERIES 7“2\ VERTICAL CROSS SECTION '
KWIKSET :
40 ) CPAQUE DOOR PANEL DEADBOLT:  SIGNATURE SERIES (980) 2/ Dwe. B:  RW
Fiberglass "Cherry’ CHK. BY: LFS
sCHLAGE | KNOB: F SERIES i
DOOR SKIN: 0.085" MIN. THK. FIBERGLASS DEADBOLT: B&0 SERIES TX—5168
CORE MATERIAL: POLYURETHANE FOAM
SHEET _2 oF 10

© 2021 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Trinity Glass PERMANENT\B - Texas Dept of Ins\DR-XXX 8-0 OP FG - IMP\C - Drawings\TX-5166-68.dwg

13.75" MAX.
PANEL WIDTH
675 MAX |, _|
D.L.O. WIDTH
D
/
A

95" MAX. PANEL HEIGHT

~

78.75" MAX. D.L.O. HEIGHT
P
N

/

1.58"

~—1.75" ——

G1)G2

EXTERIOR

/i
7

il

STILE
(LVL)

INTERIOR

/"1 "\ HORIZONTAL CROSS SECTION

\3/

Al

INTERIOR

1/
v i A
77

EXTERIOR

#8 X 1-1/8" SELF

[=— 7/16" GLASS BITE
— 1" O.A. THK GLASS

1/8" ANNEALED GLASS
" 0.090" SAFLEX PVB INTERLAYER
" 1/8" ANNEALED GLASS

“sAIR SPACE
\ t 1/8" TEMPERED GLASS

ST. STEEL SPACER

A\

Ay

THREADING SCREW %

(TYP.)

#8 X 1-1/8" SELF
THREADING SCREW

. SIDELITE PANEL
Fiberglass

DOOR SKIN: 0.075" MIN. THK. FIBERGLASS
CORE MATERIAL: POLYURETHANE FOAM

7.75" MAX.
0.C. (TYP)

(TYP.)

(:) GLAZING DETAIL
DUAL GLAZED

*

DOW 995 STRUCTURAL SEALANT

7/16" GLASS BITE

INTERIOR — 1" O.A. THK GLASS

1/8" ANNEALED GLASS
" 0.090" SAFLEX PVB INTERLAYER
L ——_1/8" ANNEALED GLASS

\ DECORATIVE GLASS
AR SPACE

5/32" TEMPERED GLASS
DURASEAL SPACER

//
#

/

EXTERIOR

#8 X 1-1/8" SELF
THREADING SCREW %

(TYP.)
() GLAZING DETAIL
TRIPLE GLAZED

TOP RAIL
(COMP)

\

~1.45" ]

/i

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

77
//

7

A\

EXTERIOR

A\}

/]

77

B\

INTERIOR

FIBERGLASS
SKIN

A\
1/

Y

,~\

1.25"

FOAM CORE

|~ BOTIOM RAIL

- 1.75" ——|

(COMP/PVC)

/~2°\ VERTICAL CROSS SECTION

A/

P.O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

CERTIFICATE OF REGISTRATION # F—11852

TRINITY GLASS INT'L
DOOR PANEL DETAILS

PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

NOJ DATE

DATE: 3/25/21

ScAE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX—5168

SHEET _3 oF 10

© 2021 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVLINSNOJ 9aNIaTing "Mm°'d Lz0oz AU

SNOISIATY
31vd [ON]| ~ o
- ILVHLISIOFY 40 LVOIAILLNAD g Sloslslo] w2
zZegLL—d4 # NO —— W m =|0 3 -
: “

AEES BEIETE VRN M99k *ATEN3SSY 80 Lavd &= 50|
S6SEC 14 OdUIDA 0£Z Xog ‘0'd &@. W np m o _
"ONI ‘SINVLINSNOD 9NIaling B M o 2 m
TNl SSYI19 ALINIYL m SEIE: m o

‘3 3L =

un&N _,.wv_“m—_..:ﬁom n_u w.%.wn_u:xn_ :Ag pe.pdeud sjuswinoo( 10NA0dd

\&N\

~ ~ ....Q\\
2 EZLPOL ...?

R P D

o

9

mE:zIom 4 NOGNAT
\ e

2

%

\\‘\‘\-\

Ceveesetectaterecsscterese
Pl

® % " S
0 Sy .
&, mu\

a.oa.a.o.q

¥i 3
Sﬁaﬂ.@ﬁ?

§
lli" *§
N

\/
)

(,2

SUEe\W4
Bmp'g9-9915-X1\sbuimeiq - D\dIAII - D4 dO 0-8 XXX-4d\su| 40 1daq sexal - \LNINVINYIJ 5se|D Anun\siuald



Z:\Clients\Trinity Glass PERMANENT\B - Texas Dept of Ins\DR-XXX 8-0 OP FG - IMP\C - Drawings\TX-5166-68.dwg

EXT. SHEATHING \

/~ DRYWALL

E

@)

EXTERIOR

W

/" 2"\ VERTICAL CROSS SECTION

w Outswing shown (Inswing similar)

INTERIOR
Z
e |
\ s e S s
EXTERIOR SEE NOTE 1
EXT. SHEATHING
/"1 "\ HORIZONTAL CROSS SECTION
\5/ Outswing shown (Inswing similar)
A
/“
= FT T
b ~T~\\~T“~\ ’
f EXT. SHEATHING \ i
| /DRYWALL 1 DRYWALL
1 : . :: :: il 1 ‘ :: ::
! nEg (59)
SHE
NTERIOR EXTERIOR INTERIOR

W

/3" VERTICAL CROSS SECTION
\y Outswing shown (Inswing similar)

DN~
©
m—

\\{\.‘1
Tee
... " 2 ‘.‘ (A
s
ssecscssossssesen
sosreavecessessessee

NOTES:
1. ltem #26 located 6" from each end
and 3 more equally spaced (5 total).

Ld
2R
£3 . o
£% 8 B
oL J T
o z ~ L
I g5
LTS
gg 2 5
° Zz 9 - z
e <L o
s i E D =
2 Jo® b
238 @
Zow b
3 oM o
) O N - ]
() [i4
- 0%z
o Zm L
— fa) o ()
2 2456
o 50 ¢ =
o mono 5
: y
: i
E o
3
[4]
[
[a}
P |
= S
[ =W
= =
WS
a 5
% s 28
(&) ol <
= =9
= ol &0
= 0 Slx
o < =0
|- =
o Xl o
3l |
S k
& P
>
m
[72]
=z
o
%]
o
L
<
o
o
=z
DATE: 3/25/21
SCALE:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
TX-5168

SHEET _5 oF 10

© 2021 R.W. BUILDING CONSULTANTS INC.



NOTES 0 \‘“’\_“\111 ;jn
: ol X Ll o
1. ltem #26 located @ 4", 20" & 34" from the head ol £9: 3 o o
down and @ 4" & 20" from the sill up (5 screws fotal). 4 s ? @
2. ltem #26 equally spaced between each hinge ﬁ @i g 3 1
(3 total). 2 wh TLk L
7 T3 B
q S g z 9 g z
cr fim 8
(4X5) RN
g>n &
£ge D
& on=
i 3 2% .
§ gne ¢
@ ] 502 u
i3 [ 7
/ : X B
@ INTERIOR @ 5 e
SEE NOTE 2 @ @ oEE HCE : SO
N 8
AR ,\\\\\\“\\
~ ) G S umamm = =
\\\ lll!!!; ;\\\\ F N 5 3
/77, / -
\\ \\‘i i\\ ] 2 | 2
s |4
E |8 =
@ EXTERIOR LE |98
@ 19 @) o 8=
) O x
= o ©
ol |E T
/ 1"\ HORIZONTAL CROSS SECTION (“2"\ HORIZONTAL CROSS SECTION = =
w Outswing shown - Inswing dlso approved \_ 6§ / Outswing shown - Inswing also approved >
INTERIOR 53 0
——— =z
(40 (0 >
7 %)
o
o
e
N \\§
=
<
a
EXTERIOR L S
16 DATE: 3/25/21
scALe:  N.T.S.
/~3\ HORIZONTAL CROSS SECTION N TR
w Outswing shown - Inswing also approved —— LFS
DRAWING NO.:
TX—5168
SHEET _6 oF 10

Z:\Clients\Trinity Glass PERMANENT\B - Texas Dept of Ins\DR-XXX 8-0 OP FG - IMP\C - Drawings\TX-5166-68.dwg

© 2021 R.W. BUILDING CONSULTANTS INC.



LNy Wy,
SmEl R 5
,s'.}% ,,,, = 2'-..“9 3o - o
oA = ES 2 B
;?fiu:“ 5 itm b W O E :I
fs 28 Bl S| Zp
\ \ b Vizi & 8% g2
EXTERIOR INTERIOR EXTERIOR INTERIOR ‘)3\/‘" 8 : ) 3 _C>J‘I— E % 0 g
QXS e i Z E e 258 &
® Wt nd |
@ Tandee™ & O%: B
3 282
£ 5% &
— o. =0 @ W
o — ) = e
. & G
= [
N 8
wn
=
£ =
G WOOD i g
Q CONCRETE Q CONCRETE < |3
i |
7“1\ VERTICAL CROSS SECTION 7“3\ VERTICAL CROSS SECTION g o &
w Outswing sill - high dam w Outswing sill - high dam = g g
55 |8l E
S o W
8l &
o <€
o o
EXTERIOR \ INTERIOR EXTERIOR \ INTERIOR >
(/9]
=
O
%)
o
o
L)
<C
()
S
=
DATE: 3/25/21
SAE:  N.T.S.
7“2\ VERTICAL CROSS SECTION DWe. B:  RW
7 nswing’i (4 \ VERTICAL CROSS SECTION one o LFS
w Inswing sill DRAWING NO.:
TX—5168

SHEET _7 oF 10

Z:\Clients\Trinity Glass PERMANENT\B - Texas Dept of Ins\DR-XXX 8-0 OP FG - IMP\C - Drawings\TX-5166-68.dwg

© 2021 R.W. BUILDING CONSULTANTS INC.



CERTIFICATE OF REGISTRATION # F—11852

= e
o) ot
SEE MULLION END MULLION €6 : g,
= 0O p E 3 a
4" (TYP.) —— 4 (TYP.)~>1 o~ 7 wt =55
PN + | 4 §§ %Eg
] T 2
I Ll L I][T 1 L 5° 558
i I e 9”2
b !l a Zg5
H @ O N -
[+]
I o E 3 283
I = S 245
——— || ” —_— N 3 Bok
<
. (TYP) I - O £ S
” e _o.f.o ;‘L‘Q Do
I it 8
I <O
I G ~
I = -
— On_
I | £ h =
I ] S 9 I 2
[l = = x
I = A E
I y oo :o;c. v
B 1 ~ SE iR B 3 a0 =
I T > & w
I < = |9 2
- & < &
H SEE HINGE DETAIL SEE STRIKE PLATE TS
. concrere(D) 1 5 NG| K 5 =
I (TYP.) = »,;
WOOQOD [ & P
I
I
I
I

I ' | 1 LI = |

4" (TYP.) £ (TYP) \

REVISIONS

| 2y SEE MULLION END HINGE JAMB ASTRAGAL
DETAIL (TYP.)
OXXO
: FRAME ANCHORING \
MULLION END DETAIL
(TYP. @ HEAD & SILL) o]
(50 X X o
Ll
\ A\ [t
@ 7® /@ \ ‘\@ A
1)) . P e 1 A\ S
_ e = e H o W S
—_—— e [ .:’> o H S  ix :
LN Lo o @f/ e THlE=e o= o mes
,{t o ASTRAGAL OWG. B:  RW
VIEW B-B VIEWB-B  BOLTHOLE @ \ @ \ \ FS

. P Ll idln \ CHK. BY:

@ Astragal sirike @ sill Astragal strike @ sil v :
VIEW A-A ; . HINGE DETAIL HINGE DETAIL DRAWING NO.:

Asiracjol Ske © head Inswing Outswing TINSWING ~CUTEHING STRIKE PLATE DETAIL TX—5168

SHEeT _8 oF 10

Z:\Clients\Trinity Glass PERMANENT\B - Texas Dept of Ins\DR-XXX 8-0 OP FG - IMP\C - Drawings\TX-5166-68.dwg

© 2021 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Trinity Glass PERMANENT\B - Texas Dept of Ins\DR-XXX 8-0 OP FG - IMP\C - Drawings\TX-5166-68.dwg

— 125" ’«

! 2.44" !

< : ) HEAD & JAMBS
FINGER JOINT PINE

]"

AN

#8 X 3/4" PH SMS LOCATED
1-1/2"TO 3" FROM ENDS PLUS
5 MORE EQUALLY SPACED
(7 TOTAL MIN. EACH FACE)

0.75"

T

213"

5.62"

el
b
. Ng
0
~r
\ 0.6'X 39" LVL
\ INSERT
/,
I‘i 2" —*I ! 217"
4 INTEGRAL MULLION 5 INTEGRAL MULLION
PINE PVC/LVL

@ INSWING THRESHOLD

|

0.75"

' 4.56"

2.45"

( : ) HEAD & JAMBS
PVC

’* 0.58"

33 OUTSWING THRESHOLD

High-dam

Tul

'|" —
o
O
) o)
3 U] <<
o o
O
2"
6 INTEGRAL MULLION BASE KIT
Optional
4.57" —

SILLKEY (LEFT)
4.56"
(o} o (o}

1.22"

L
_——

I

NYLON BOLT
RETAINER

2.65"

5/16" @ STEEL SLIDE BOLT
(9-1/2" LONG) @
EACH END

53 ULTIMATE HURRICANE ASTRAGAL

Endura Products

0.08"

\\‘\.\\\}1111

N

*eael

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

SILLKEY (RIGHT)

244"

4.5¢6"

|

L‘——-i— 1.50"

\

(::) SIDELITE SPACER
Inswing

. SIDELITE SPACER
Outswing

P.O0. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By:

CERTIFICATE OF REGISTRATION # F—11852

TRINITY GLASS INT'L
COMPONENTS

PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

NO. DATE

DATE: 3/25/21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX-5168

SHEET _9 oF 10

() 2021 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Trinity Glass PERMANENT\B - Texas Dept of Ins\DR-XXX 8-0 OP FG - IMP\C - Drawings\TX-5166-68.dwg

BILL OF MATERIALS

ITEM # | DESCRIPTION MATERIAL
A | 2XFRAMING (SG >= 0.42) WOOD
C | 1/4"MAX. SHIM SPACE _
D | 1/4"FH DeWALT OR ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL
K[ #10 FH WOOD SCREW (1-3/4" MIN. EMBEDMENT) STEEL
L | #10 X 2-1/2" PFH WS (1.15" MIN. EMBEDMENT) STEEL
1| HEAD & JAMB (FINGER JOINT PINE: SG >= 0.42) WOOD
2 | HEAD & JAMB PVC
4 | INTEGRAL MULLION (PINE: SG >= 0.42) WOOD
5 | INTEGRAL MULLION (PVC) PVC
6 | INTEGRAL MULLION BASE KIT ABS
7 | WEATHERSTRIP FOAM
8 | DOOR BOTTOM SWEEP PVC
9 | #6 X 1-1/4 PFH DRYWALL SCREW STEEL
11| #9 X 2-1/4" PFH WOOD SCREW STEEL
16| LATCH STRIKE PLATE STEEL
17 | DEADBOLT STRIKE PLATE STEEL
18 | DEADBOLT SUB-STRIKE PLATE STEEL
19 [ SILLKEY ABS
24 | #9 X 3/4 PFHWS STEEL
25 | #9X1"PFHWS STEEL
26 | #10X 2'PFHWS STEEL
27 | #8 X 2-1/2" PFH WOOD SCREW STEEL
28 | #10 X 3' PFH WOOD SCREW STEEL
29 | 4" X 4"HINGE STEEL
31 | INSWING THRESHOLD ALUMINUM w/ COMPOSITE SUBSTRATE ALUM/ COMP
32 | SIDELITE SPACER - INSWING PVC
33 | OUTSWING HIGH - DAM THRESHOLD ALUMINUM w/ COMPOSITE SUBSTRATE | ALUM/ COMP
34 | SIDELITE SPACER - OUTSWING PVC
40 | DOOR PANEL -
50 | SIDELITE PANEL -
52 | #8 X 1" FH WOOD SCREW STEEL
53 | ENDURA ULTIMATE HURRICANE ASTRAGAL ALUM
54 | ASTRAGAL STRIKE PLATE STEEL

CONCRETE ANCHOR NOTES:

edge distance to mortar joints.

yusg;hg;z

:Y%..O".‘g .
Lt
p’i\:'. T, im
Fui 209 1N
ﬁo: fu 3;
ﬁ s : ‘o
Su%, 3L i
?3\/'. ORI

Q5. 0

S i Z Lt

Maden™

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

1. Concrete anchor locations at the corners may be adjusted to maintain the min.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to

maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

P.O. Box 230 Vairico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

CERTIFICATE OF REGISTRATION # F—11852

TRINITY GLASS INT'L
BILL OF MATERIALS

PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

NOJ DATE

DATE: 3/25/21

ANCHOR | ANcHOR]  MIN. | MIN. CLEARANCE | MIN. CLEARANCE

ANCHOR. AR | eMBEDMENT | TOMASONRY | 70 ADJACENT -
ITW " " " L
tapcon® | V/ 1-3/ 2 G
DeWALT " \} " L
uLTRACONS| 174 1-3/4 1 4

SCALE:  N.T.S.

DWG. BY: RW

WOOD SCREW INSTALLATION NOTES:

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood.

CHK. BY: LFS

DRAWING NO.:
TX-5168

SHEET 10 oF 10

© 2021 R.W. BUILDING CONSULTANTS INC.



